Guidance document 26

Handunslnaudiivesyy (Meassure angles in degrees,radians.)
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Learning outcomes.. Find the trigonometric functions of angles or the Real number

and write graphs of trigonometric functions.
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Intended destination Find the value of the trigonometric functions of angles.
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3.1 whwesm () Degrees
yuiiAnnmsvsuvesdinvesdunsiluasy 1 soufluuin 360 83(1 revolution=360")

1° = 60" ( 60 &Un1) each degree is divided into 60 minutes
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1 = 60 ( 60 %aun1 ) each minute is divided into 60 seconds.
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Since the arc length of circumference is 27T radians and the circumference
encompasses one complete revolution of 360° then

27T radians = 360O or T radians = 180O (one-half of a revolution )

1 radian = 189 gegree =57.2058° ~ 57°18 (57°17 a5’ )
T
0 T . ~
so 1 = —— radian X 0.01745 15p8U
180

nunu  If angle ( 0) are in standard position. what the terminal side of 0 the
quadrants?

1. sin O :% Answer quadrant 1 or 2
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2. cosO :? Answer ............

3. tan0@=-2 Answer ...

4. tan O = -’ Answer ...........
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5. sin O = —? Answer ...
Alternate Example 1 Express the following angles in degrees
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Alternate Example 2 Express the following angles in radians,using T in the answer

1) 300° solution 300X % = °F
180 3

2) 2112 80 e



3) 3150 e
0) 8800 e
5) 2500 e

a =~ o ~ 0 27'[ a a A
1. Eﬂa’]llLV@UNEU“UQ@JH@JET@Q&!N@JGUUW@ 36 LLfW? LILAYU QQVW%UW@%@Q&J@JWLWﬁQIUEU

LSLABY
2. asmemesilyidusdlnafifnniteifurommsiolud
1) 150"
2) 120’
3) 315
a) -315°
5) 930’

3. RIWIANVDY

3tan?135° —sec ? 300°
2sin 330°

tan(—480°) —sin(—840°)
cos(—390°)
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1) sin O =% MOU  AIRASUAT 1 2 2) cosO =_5—4 HOU A0
Sudil 2,3

% a‘d‘ 7
3) tan O =-2 POU  ARATUAT 2.4 4) tan O = 57U men
Sudi 13
5) sin O = g AOU  PIATURT 1.2
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2) % =150 846"

3 T 396 gem
4) 4T =720 237"
5 3 = 171 2967 54 aUA
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2) -112° 400 = -1.966  \s\fgu

3) 3150 /"
) 830’ = T

9
5) 500" = 2T
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